. Explain the life-cycle hypothesis.
Sa-=sh Iiehed T &l fasqa wifea |

. Describe the concept of balance budget multiplier.
Hferd ssie Uk i foERYR w1 s Hifeu)

. What do you mean by money supply ? Briefly
explain its measures and determinants.

51 gfd @ o9 N g9a § 2 39 HiUE ud fAuie
T w1 e § fred Ff

. Write short notes on the following :

(i) Short-run and long-run consumption function
(i) IS-LM curve

Frafafes — dfea fewfirar fafen .

(i) STcuhifcrh Td QeI IR Hor

(i) IS-LM =&

. Elucidate the Hicksian model of Trade-Cycle.
o & AR-=hE g & fosga s

. (1) Differentiate between demand pull and cost
push inflation.
o S e ora WRa gEERia B OSTR TR
FHIST |

(i1) Briefly explain the Keynesian model of
employment.

HIg & USTIR Aied &1 989 | fao=m sifsm)
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Note .— The question paper is divided into two Sections
A and B. Write answers as per the given
instructions.

et - a7 T e o ‘A @ wel | fawifea §1 v
g & EYER woe & W e

Section—-A 4%x4=16
(Very Short Answer Type Questions)

Note .— Answer any four questions. As per the nature of
the question delimit your answer in one word, one
sentence or maximum up to 30 words. Each

question carries 4 marks.
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1. (@O

(ii)

(iii)

(iv)

v)

(vi)

G ug—3
(fa &g 3T ug)
Pl w® 9w & S AW s et SWow

YHER U T, UH g AT AfeRad 30 vl o
Tfidifqa HINT | T 999 4 3Tl @ T

Define Transfer Payment.
T YA Sl IR ity |

What are the leakage in circular flow of

Income ?
M % Thig JaE H EE ad sH-%Ad § 2

Name the two economists, who played a

prominent role in classical period.

FAfaRe §HF H, & fFe FHam g @
sdenferal & A SRy |

State the Fisher’s equation of exchange.
Ry & fafaa T i 99smEy |
What do you mean by MEI ?

MEI & &9 %1 99ed § 2

Define Trade-Cycle.

SIR-=h 1 IO whifSIT |
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(vii) What is the acceleration principle ?
= g =g 2
(viii) State the equation of LM curve.
LM 9% 1 THR0 TR
Section-B 4%x16=64
(Short Answer Type Questions)

Note .— Answer any four questions. Each answer should not

exceed 200 words. Each question carries 16 marks.
Qg —d
(g T q99)

feor .- fosl 9R 9ol & S SifSu Y T SW &l

Afrerae 200 3151 § GREIfHG wifSw) 9o 9
16 31! T B

. Define national income and explain its method of

measurement.

U 3T 1 aRfoa HifsTe 3R 39 A9 o1 fafert
Ealerscicalsi

. Briefly discuss the classical theory of income and

employment.

3 TE SR & Fonfasal 9o &1 989 § fag=m
IS |
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